. - Friendly Notes For General Mathemtics 9

BUSINESS

MATHEMATICS

© Profit = Sellmg Pnce Cost Price -

SH‘ORT QUESTIONS

- Deﬁne Proﬁt and Percentage of Preﬁt,. |
. If selling price of an article is greater than the cost
‘prlce Then the dlfference between them is called -

profit. Thus

 =P=SP-CP=SP=CP+P.

B _Q.‘Z-'

Ans.

'ﬁ,-'IAProﬁtPercentage- g)ﬂ 100% o
Define Loss and Loss percentage" -

-When the sellmg price is less than its cost pnce Thenf - N
the dlﬂ"erence betweeh them'is called loss Thus L o

- .'-'r'Loss Cost Price — Sellmg Price’ |
- Loss=CP- SP::>CP SP+Loss L

| Loss % age 7-"

Q3

Loss '
1 00
~p <%

Defi ne Marked Prlee, Llst Pnce and Dlscount |
. The pnce pmnted on the wrapper of artlcle is called
marked prlc:e and the pnce of artlcle glven in the list

o provxded by the factory is called list prlce |

" marked price or the list price is called dlscount.

A deductlon of price offered by the seller on the
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- Ans
.
i)

| (i)

Q5
Ans. An association of two or more persons who runs a |
" business to get proﬁt is called partnershlp There are
I 'twotypeofpaltnershlp
W
- Q.6

erte the mathematlcal relatlons regardmg.

. dlscount. S

R T

DlSCOlmt (Marked pnce or LlSt Prlce) X Dlsoount % :
Sale Pnce (Marked or List Pnce) Dlscount
' ‘Discount

JDlscount% VT x 100 . - -

MP
Define Partnershlp ‘What are its types

Simple partnership. (i) Compound partnershxp
Define simple. partnershjp -

‘When the partners invest capital for the same pcrlod of -

. time the partnersh:p is called s1mple In thls case,

Q7

O Ans.
S perlods of time, the partnershlp is known as |

-~ profit or loss is distributed among partners in the ratio : ;
~ of capital invested by each of them. | |
‘Define compound partnershlp.

When different partners invest capltal for dlfferent |

compound. In this case, profit and loss is distributed in X

_ . - the. ratio of products of caprtal and permd of -

o8

investment of each partner.

A bicycle wis purchased | for Rs. 3450 and sold for

Rs.3850. Find the profit percentage

| Soluﬁon . CP=Rs.3450, . SP=Rs3850

; Proﬁt % age =

Proﬁt-Rs_.38.$0 Rs.3450 = Rs400 -
Profit < 100 = 400
Cost.P - 3450 .

- =11.6%

><100




53 Lo o i andlyNatu ForGuural Mathemmssi )

Q 9- *A book is sold for Rs. 650 at a profit of 30% Find
' the cost price.. : o

" Solution. - - SP=Rs.650 .

Proﬁt“/&'ag,é=3f_()'%j o -
o 100 "s-.'P_.‘

700 + Profit % e
100 "
s 650 =

= Ta0 307550 =Rs. 500 Ans.

Q. 10- A boy bought a book for Rs.575 and sold lt for
- Rs. 320 what was the loss %o age. -

o Solutloq CP=Rs.575, ' SP=Rs320.

Loss =Rs.575. Rs 320 Rs 255
Loss% age = LO;S x 100 B
L 258

 ".-=_-—><100 4434%
575

Q 11- Marked price of dinner set is Rs 8450. The store
~ offers 10% discount what is the sale price of dmner set"
Solutlon . "MP= Rs.8450 .
SR Dlscount-IO/ofMP
o= iQ--x 8450 R5845
- 100 .
Sale Price = M P- Dlscount ‘

. -‘~R58450 Ks845 —*-Rs7605 _ |

Q 12- The share of three partners are in the ratm 2 3.5,
, Fmd the share of each in the loss of Rs. 10, 00 000.

Solutlon ' GivenRatio=2:3:5" .~

' Sumofratms—'2+3+5 10

2 R
Shareoflstpart:1er—'1—o><1000000 '-Rs200000 v

o 5
Share onnd partner= 0" x 10, 00 000 Rs 30 00 00
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5
Share of 3rd partner— TO“ X 170 00009 =Rs. 500 000

Q 13- Umer and Ali invested Rs.3,00,000 and Rs.5,00 000. f -
~ respectively and eamed a profit-of 2,20, 000 from a-

" business. Find the share of each in proﬁt
Solutlon Ratio " .. ‘;' - Umer . - : Alj o
| C. 300000 o s0000

Sumofratlos 3+5 - 8. e
Proﬁt Rs. 220009 R ﬁ:'_; .

i Umer s share = Ex 22 0000 =Rs, 82 500 Ans.

Ahs share4z-’<220 000 -Rs ) 37 500Ans

ERET somanmms:s
o EXERCISIE?.I
Q- Find the SP, when
L @) CP=Rs.95, Proﬁt m% o
(i) CP=Rs:1540, Loss-S%.
. (i)  CP=Rs.9600, Profit =10% . -
. @) CP=Rs,126000, Loss =5%
() CP=Rsd80,Profit=3% -
) CP j=.Rs.760 ’Lcss-fé#'%' R
| Solutlon- o L L
(z) . CP= ngso Proﬁt-JM L
“Profit =1 O%QfCP T R

-;.";.i[’_x'%o Rs95
" 700

 SP=CP+Profit .

=Rs.950 + Rs,’gs '=Rs.J045 Ans. o
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"',(iv“ CP=Rs.I540; o Ldss-=i5%_""{_ '_

Lbss—5% of CP ;
| -;'ix154o Rs??
100
SP CP- Toss © . -
U —Rs1549- Rs77 -Rsl463Ans | RN
'(a'z) CP=Rs.9600; " Proﬁt-IO/o "
Proﬁv-zMofCP L
=£—x9600 R 960 BT
100 o
SP= CP+Proﬁt | SR
..,-.,96004-960 —RsIO560Ans
(w) -CP= RsI26000 Loss-SA
" “Loss= 5%0fCP . e
LS

o SP CP-Loss -~ = o
7. =Rs.J26000 - Rs6300- -Rs119700Ans |
) ',,-‘cp Rs.480, Proﬁt 39/ | ' ‘
Proﬁt—J/ofCP

L

—.Eb-—x480

© . =Rs.l440

-8P= CP+Proﬁt » )
SRR ~--Rs480+Rs1440 Rs49440Ans
= (vz) ‘CP=Rs.760, " Loss = 4%
<+ Loss=4%o0f C.P. R

',?'-ai-xmso Rs3040

Lo ]00

SP CP Loss--'_

=Rs. 760 Rs3040 st'729.-6bAns.-'- :

x1260-99 Rs6300 i
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o Q.2- Haris purchased a car for Rs. 248000 and spent -

Rs.12000 on.its denting and painting. He sold that
ata profit of 5%. What dld the customer pay to Haris?
Solutlon - : |

Cost Prlce Amount for Purchasmg ]
- ~+ Amount for dentmg and Pamtmg
C P'=Rs.248000 + Rs 1 2000
=Rs. 260000 L
Profit 5% of C.P.

) * 260000- = Rs. 13000
=796

s P=CP+ Proﬁt Rs. 260000+ Rs 13000 -
T= Rs 273000 | |

o “Thus the customer pald Rs. 273000 to Hans Ans
Q3 Find the CP, when - S
. -SP= Rs.672, Profit = 5%

(i) SP= Rs. 851, Loss-S% K

, | (i_-ii)-- SP Rs.1755, Pmﬁt-IZ ;% |
() SP Rs. 2640 Loss=12% = -
o ‘(v). sp= 'Rslﬁ() ; Profit = 33‘*2- % |

- Solution:- B .
(i) - SP R5672 Proﬁt— % .
100 xSP
100+Proﬁt%age e
L 100 x6 2 -

C100+5 ) e

_ 67200 _ 13440 -.640 -

105 21

CP Rs640Ans
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. (i) S. P-—'-Rs.'85]_,' ' Loss—8/ -
CP_ _]00.. xSP .
' 100~ Loss%age S

L= ..100 x-8_51'
- 100-8
R 37 o
= x85L =Rs.925 5 o
i) ;S;P‘=;Rs‘;_17'55,-£roﬁtr= zz%%=12.’50% o
C.P ' 100 _
5 100+Proﬁ‘t%age el
= A0 s 175500
e 100+1‘2._50.-. To11250
., ©%."  =Rsl560Ams. -
() SP=Rs2640, © . - Loss=i2%
cep=——% . gp
100 Loss%age o
100
o T00-12.
_-_I—Q-qug Rs3000
88
“ CP Rs:3000 Ans. ~ R
E .-j'-(v)_ '_ SP=Rs.100, ~  Profit=335% .
. CP=- 100 xSP
100+Proft%age e
100 . 10000 L

o100 e - 10000 .-R“75
T100+335 1355 75 Aus.

xS.P

x 2640
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Q.4- A shop-keeper gains a proﬁt of 7% by sellmg a e
~ dinner- set for Rs.3852. If he sells it for Rs. 4050 e
find his profit percentage

'Solutlon - _ | |
SP Rs3852 ) Proﬁt—‘7"/ S
‘ 100 “SP ‘
100 ¥ Proﬁt % age
, ‘ | 36 v
100 3852 100 i
_ 100+7 ) 402
CP Rs3600 R
Nowagam B

CP=Rs3600 * and " SP=Rs4050 .
Proﬁt SP-CP. T

 =Rsa050- Rs.J600=Rs.450
- ?roﬁt%age— P::oli;it x100
S 50 50
S x 196 =2
Mo 3609- _4

—125/6—122%Ans

' Q.iS-‘ The selhng pnce of 12 articles is equal to the cost

" price of 15 artgcles Fmd proflt percentage. )

" "-'__"‘_Solutlon - o

C cht cost prlce éf 15 amcles = Rs. 1 00
. »So sale price cff 12 artlcles =Rs: 100 -

: 100 -
| andsaleprlceofISamcles‘-'-'--}?x15 Rs 125 KR

S0 '_Proﬁt SP-CP=Rs./125 ~Rs.100= 25 -

_ Profi gzoa

Proﬁt %age =
S - C. P

25 - -
=2 o = ,250/ o
| 100x °A“S



o _Q.7- A man sold an. alm:rah at a prof’ it of 7

s Soluuon -

- I : S o ?ricndly No.tes For chéral_)llnthe-mtics*)

Q- Find the cost price, if a fan is sold for Rs.1470, to
get a proﬁt p: the of its cost: prlce | '_ -

-_Solution-""f S o
Se]lmg price = Rs i 470
o Proﬁt— EOfCP
Thus | s

o SP CP+Proﬁt "_‘ .
S P C P + (C P) ‘

o

@)

*
: D
SN 7 B

o~

- x (1470) - Rs. 1260 Ans

'3 % ,had he_
suld it for Rs. 209, he would have lost 2% For how -
much the man. purehased 1t" .
Loss—2 LCP=2
| CP—— "100‘ - xSP |
: § | 1 00 - Loss%age *

100 d00 o
«209 =12 209 = Rs.213
“r0-2" ,.98-" ~Ra213 A
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: Q.8-- Three chairs are purchased at Rs 450 each. One of o
. these is sold at a loss of 10% At what price should -
the other two be sold so as- to gain 20% on the-
‘whole transact:on" | I |
'.Solutlon-» | e
- CPof each chalrs Rs 450 o
for Istchair~ = .
Loss- 10% = 10% ofCP
i) =—‘I-0-x450 Rs45
SP CP- Loss—Rs450 Rs45 |
" SP=Rs405 -
| For the whole transactlon
Proﬁt 20%
‘—Zﬂ%ofCP |
j_it.’_x135o Rs??O
| - 100 -
'SPofthe three chalrs o \ i
| o -CP+Prof't '—1350+270 Rs1620
- S.Pof other two chalrs S.P of three. chairs -
‘ - o —SPoflstchalr"
- -—Rs ]620 Rs405 =-Rs. 1215Ans

| . EXERCISE 3. 2

"~ Q.1- Find the sellmg price, when
() MP=Rs.728, Discount=6%
(i) MP =Rs.2760, Discount =5%

() MP Rs. 395 75, Discount = s% ,

- Solution:- -

() MP= Rs728 Dlsc—tf/
' DISC 6%0fMP
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- L - T = -y

6 o B S
=——x728 =Rs43.68. -
100" T T
'Thus S.P = M.P — Dis¢
. =Rs.728 - Rs.43.68 3
. —-R868432Ans R
(i) MP=Rs2760, - Disc=5%
. Disc= 5%ofMP | | o
'=_.5_><2760 Rs138
-~ 100
| ThusSP M.P - Disc -
Y =Rs.2760 - Rs].38
o =Rs.2622 Ans. -
(i) * 'M.P=Rs.395.75, . VDis'c=8%,

- Disc= 8‘7'ofMP | T
'-,-=--—8-—x39575 3166
100 TR

ThusSP M.P - Disc = Rs39575 Rs3166'

g - =Rs.364.08 Ans.

Q.2- Find the marked price, when I
(i) SP= Rs51520 Dlscount 8% o
(i) SP : Rs. 858 Dlscount 12% |

(i) SP'=Rs.2400, Dlscount—4% o

| Solution:- . o S
0 SP R551520 _DiscTé'S-%“ S
- =(‘ 5 ‘]"'S.P
_lOO—che SRR
100 x51520
T 700- -8~
100

‘---- 51520 Ine
92 X . Rs.560 Ans.l o
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. (i) SP=Rs858, Disc=12%.

s
100 - ]2

100 : B
' =_.-—'-X858 = T
'88 Rs975Ans

(i) - SP=Rs.2400, S DISC 4%

' M;'P (___].i)i_ﬁ_) xSP
oo \100-Dige;
e, 9400 |
- 100-4" .
S I _ _
_ 4‘99' i ;:: .:- e

SRR Y oo ‘ e
Q.3- The marked price . of 2 cellmg fan is Rs. 720 It is o
< sold forRs.684. What percentage dlscount is’ bemg .

. allowed? .
'Solutlon-f R S
| M P= Rs 720 8. P Rs 684
Dlsc M. P - SP= Rs 729 Rs 684 R&36

-Pise
X 1 00
P

DISC % age =

36
| -""73-(—)')(]00 5/0Ans

_Q 4 The marked price of washmg machme is Rs 3640

Dunng sale season it is sold for Rs 3367. What' S

o percent sale dlscount is hemg glven
o Solutlon - | |

 MP=Rs.3640, sp Rs3367
DISC Rs, 3640 Rs. 33'67 Rs 273 :
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T TR —————

| Dlsc%age D
.‘ M.

.'273 xIO#:'f__’l?__i‘l:%H%Ans
" 3644 S92

- Q.5- 'The marked. price of a book is Rs 480 The

~ shopkeeper offers a dlscount of 10'% and still

' :gams '8%. Find the prlee at Whlcl‘l the shopkeeper .
: 'purchased lt | T -

- Soluuon -

DISC, 10% R - S

o -'—}O%OfMP .
00" e

SP= M.P - stc -
. 2480-48-Rs432. .
Now . = " | | |
S [y S

]00 +Proﬁt%age ) " *

| “To0vs PP S
. =i@x432 Rs400Ang

A 108 '
- .Q.6- A trader marks his goods in such a way that after

L allowmg a dlscount of 10%, e gains 15%. ¥ an

-article. costs hlm Rs 720 What 1s 1ts, marked pnce" |

: Solutlon-’f

o CPe Rs720

Proﬁt-lS% -. |

. Profit = 15% of CP - |
: =i5_x720 BT
100 T
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" 'l=RS.“,10"8 )
SP=C.P+Profit.
R —Rs720+Rsl-08 Rsszs
S Lo 10
- Now: MP 100 - Dlsc%age SP.
S 100
.,Ewo 10

_\oe, 828 = Rs.920 Ans.

|94

"823 B

| 'Q;7- The lﬁst price of a TV is .Rs. 12600 A dlscount of
5% is, allowed on it. Further for cash paymenta
: second discount of 2% is given. How much cash e
. payment is to be made for buying 1t" L o
List Price = Rs.I2600
Disq=5%ofLP
L -—5-—x12600 Rs. 630
- 100

SP:rLP Disc
o :=\ Rs.12600 - Rs. 630 Rs 11970 :
DISC for Cas\h Payment 2% - s

= 29/ of Cash
| _-?a%x 11978 = Rs.235 0 -
L Cash Prlce Rs. 11970 -239.40 = Rs. 11730 60 Ans :
x Q.'8- K15 % dlscoul@t on MP of a'heater is allowed and

- still makes a’ praﬁt of 2%. lf it IS sold on MP what -

,_ s’ ‘profit percentage" - :
~ Solution;- Let us suppose
.. MP=Rs.J00

- "Disc=:15%'=~_Rs.!5
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'S.P =M.P - Disc .

—RS]OO RSI5
SP=Rs8S L
Proﬁt%age 2% DR |
oo p
1 00 + Proﬁt % age :
500

CcP= R38333 ) - - L
 Now if the heater is sold on Marked price = Rs 1 00 -
Proﬁt—SP CP - = |
‘ —100 83.33= RSI667

"Thus Proﬁt % age 1s I

_ Profit | 100
P

o 1567 x]OO

—209/ Ans

 EXERCISE 3 3

S Q 1- | Dlstnbute Rs.200,000 as profit in a busmess

B regardmg three persons? if their shares arein thé
- ratie3:2:5. o - :

o 'Solutlon-- . SRR o

| LetthethreepersonsbenamedasA BandC So SO

Profit = Rs 200,000 | | : -

C Gwenratlo _ , oL S
| Sum of ratios ='3'+‘2.-i-5=‘1‘0‘
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_' A's Share = }% x 200009 = Rs.60000 Aps. '
 BsShare = zio.x 200000 < Rs.:moo(; Ans.
Cs Sharc = ;0- X 200000 Rs weooo Ans

Q-.Z-‘ I Ah, Daniyal and Abdullah earned 15% profit |
S against an mvestment of Rs. 750,000. Find the
| proﬂt of each if thelr shares are in the ratmn 2 3: 5 a
‘ Solutlon- . ' | o : |
” Investment Rs. 750, 000

. Proﬁt =] 5 % of mvestmcnt

-%xmoga ~Rs, ”2500 o
leenRano : -- ‘ '
Al Damyal © . Abdullah .

‘Sum of ratios = 2‘-+ 3 b5 ]0 | o
" 'Ali's Share = 1—20- % 1‘1250’0 = ;-Rs,22500 Ans.

DanlylsShar'e. 1—30- X 112500 Rs 33 750 Ans

: ,#-'

o Abdullah's Share = }55 «112500 = Rs. 56250 Ans.

Q.3- Dlstrlbute Rs. 720 as proﬁt amongst three people, _'
50 that thelr shares are in the ratio 3 4 5.

Solutlon - -

- Profit=Rs. 720
leen Raito = 3 4 5

Sumofranos 3+4+5 12



67 ' S Priendly Notes For General Mathemtics 9

 First Share - 1—32- 720 = Rs 180 Ans
2nd Share . % y 720 Rs 240 Ans.

3rd Share I’%— X 720 Rs 300 Ans

L Q 4 Three persons mvested an amount of Rs.3, 000 000 o
’ \‘j in 2 business with shares ratio 2: 3 : 7. They

,earned a proflt of Rs 600,000. 1f they are -

L - interested to wind up ‘their busmess, what amount |
| every share holder would get" | '

.Solutxon- a
o : Total mvestment =Rs. 3, 000 000
B leen Raito = -2:3; 7

Sumofratlos—2+3+7 12

| igtoLo-aspoo
' Investment of ﬁrst partner = —_7_2_— x -3999990— Rs o] 00000 .

| Investment of 2nd partner -}-'iz—x 3000000 Rs 750000 R .

B Investment of 3rd partner = -;5 X 3000000 Rs 1750000
Total Proﬁt Rs: 600 000 . |
Profitof Ist partner - }?-2- % 600000 - Rs.L00, ooo

Proﬁt of 2nd partner = % X 600000 Rs 150 000

PrOﬁt of 3rd partner -}-75 x 600_0_00 =Rs 3 5 0000 ‘ o
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Now Amount of each partner is |

- Amount of Ist Partner = Investment + Proﬁ
" =Rs. 500000 +Rs. 100,000 = Rs. 600,000 Ans.
3 Amount of 2nd Partner =Rs. 750000 + Rs 150, 000
" =Rs. 900000 Ans.

~ Amount of 3rs Pa:tner- Rs. 1750000 + Rs, 350 000.

X } Solutlon- -

| Solutlon -
I ‘-‘As the glven Rat:o s

"7 =Rs.2/00000 Ans.
QS5

~among themselves in the ratio 2:3:7. What is the L

Three member of a firm dlvuie the profit Rs 67 200 o

biggest share of the proﬁt" B

Profit = Rs. 67,200 i
Gtven Raito=2:3:7

SumOffﬁthS—2+3+7 12 * .

o Blgglst Share —,}st -6-?299— Rs 39200 Ans

A gum of. money is. dmded among three persons

_ 'A,B and C in the ratlo 10:7:5. £"B" gets Rs. 14
_ more than "C" How much wnll "A“ get and what -

_is'the total sum of money" .

A - j-'B e

L

'So let money of each person be 1 Ox 7x and 5x

- respectively.
o By the gwen condmon

7.‘ B's Money C's Money =Rs. 7 4

~5x=14
=14
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ThusAsMoney 1x=10%7= ﬁsm
Total sum of Money 10x+ 7x + 5x
s . =2X= 22x7
—Rs.;|54An_s., :

L I!ewew Exercise-3
Q.1- =Encn'cle the correct answer. o

(z) ',.Proﬁt is earned when

- (@) 8P=CP. “(BSR<CP
R ?(c)SP> cp " (d) none of these
TGy Lossii is there when: ST L
C . @SP=CP .. “@®)SP<CP
T (@SP=MP ‘*--"”-—;(d)SP>CP S
---'(iéj:)" f’roﬁt%_‘?whefe SP>CP o -
o Prof: T S Prof;
CP .- B (b)_. cP .
CPxProft% s IOOXSP
00 (d) 100+Proft%
i) \SP =7 where SP > CP '

.f""(a)- 100 -

B -

(b) (]Oo-flfgzéﬁlﬁ)xcf, L
Gy CP —Loss R ._”'CPX"LosS'%‘f:'7
o 'IOO'xSP‘ S o -
.-() !00+Proft% o (b)‘IQSSj-S‘P |

T ',(a) Proﬁt —-CP

o MP di 4 Discountx100 .
| _.__..(c) + 1sc0unt-. o (_) AV

'_'.;.(z‘)--(é) Tom_ '(z":‘;)-(b,y W m | W@ ]




| ﬁrieenellyll\?em‘!’dr C;euee'afﬂuﬂ-:emtice9 :. ) . ' ) . o 70 |
" Q.2- Fillin the blanks. | N ”
(@) _The price at Wthh a partlcuiar 1tem is Purchased is .
- called | |

| (ii) - The price-at whlch an artlcle is sold Out is called
(i)  When SP.>CP, CP=SP-?__ -

- W) _When SP <CP, Loss%- g :

'(v)‘-l . MP= IOQ:SP‘ )

|@ CostPrice . ' |(i) SalePrice . [} Profit, | -
- (t_‘v) Cl;—PSP _i—-OQ' o) 100 Dlsc%age R

Q._3- A shopkeeper gams a profit ef 8% by selllng a
E . washing machine for Rs.12000. If he sells |t for
Rs.10, 500 find hlS proﬁt percentage -
s ‘Solutlon + . N .
- SP= Rs]2000 - 'f_ - Proﬁt—-8/
160

_CP—'“ xSP
_ 100+ Proﬁt % age |
a 1000 |

»-:___!_‘29__ 42006 - ’0000.0_11511111 u )
08 9 .
L
'-Nowﬂ'SP R310500
: _NowSP<CP So loss is mcurred

Loss-*CP SP 1111111 ]0500 Rs61‘11’1

- D 2
o Loss o e
. 'Loss % age ;.Lossxmo . U 11 |
RSN T - 55555-;_ :
| 55560
Leirnl .
x100- . =55% Aus.

TR

T .,
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Q5

: ',Q 4- If there is a 10% dlscount on marked price ofa
- television and Stlll makes a proﬁt of 5%. If it is sold' C
in marked price, what is proﬁt percentage" .
B Solutlon-.- o - .
Letus suppose |
M-P RsIOO SRS :
Disc=10%of MP. . . T
e - 'f N
...—x]OO RSIO T .
- 100 - N
SP -M.P - DlSC 100 ]0 Rs90
Proﬁt 59/ So:: .
o 100-:-" <SP "
| 100+Proﬁt%age U | |
L =£@-x90_39 90_30—0-4571
. 105 21 7 e
nCP= Rs8571 T_ S
NowaTVlssoldonMP T
SP= Rs.100 o
Proﬁt—SP CP Rs]OO R58571 RsI430
0 _ Profit N o ~
P.roﬁt Aage <P x100 , \ o |
: 1430 ' 100 Y
=55 70><100 o =i66%Aus. .
Distribute’ Rs 33,000 as a profit in a busmess |
regardmg three persons, lf thelr shares are in the.
. rat10353 - |
_'_'Solutlon.-'. -
" Profit=Rs.33. 000

| Ratlo _am_ong, shores S
Ist o 2nde : 0 3rd

- Sum ofratios =3 + 5+ 3 =11 -
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Sha.re of lst Partner = —137 X 33000 Rs 9000 Ans
e Share ef 2nd Partner = ;]— X 33000 Rs 15.000 Ans

.Share of 3rd Partner = % X 33000 Rs 9000 Ans

- Q.6-. 'Three membérs of a flrm divide the profit -
-~ . amounting Rs 1,44, 000 among themselves m the .
,'rat10345 . : S
(i) What is the blggest share of the prof t" S
. (i) What is the smallest share of the proﬁt" :
: Solut10n- L * o
- The proﬁt that s te be dlsmbuted Rs 1, 44 000
~ Given Ratios =3 : 4 5 -

Sumofratlos_3+4+,5 12

B {i ) The Blggest share = -1'—52— x 1 44000 Rs 60, 000 Ans |

o '\(z"i)" The Samlllest share = % 8 144000 RS 36000 An5~, o

Mult:ple Chou:e Question

' 'Tlck v the Correct Chmce

-."(rf) ' ,Proﬁt_lsequal fo T
© @sP-CP ' ®CP-SP

. (¢gDiscount . . * ('aDNohof‘thc_se._
(i) Profit % age is equal_to o o
o Proﬁt o Proﬁ e
D 100 L 100.
-. (a)C.P x | '_(b) B |
100 SRR 1 0 ‘
() Profit>< T .-(d) ‘N-orhl_efthe_se .
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(i) fCP = 200 and s P= 240 then Profit % age ls

(@ 10/5- L (b)) 20%

S (Q40% . (@ 50% ‘ o
() A bookis sold for Rs 650 ot a proﬁt of 30% Its Cost B
"~ -~ . Priceis” o - S
: '(a)Rs400 SRS _-"(b);Rs-500:‘ o
- (gJRse00 @Rs.ﬁ(l_- .

) _:Loss% age is equal 10 |
.- “Loss" S Less
-. 10 . 00
EE (a) SP- o 0 e (b) C.P XI
o CP ><100. o _,_L.;;,'"() SP xIOO

_ | Loss Loss

" i) Lossis incurred 1f T

- (@SF>CP A ) CP<CP
. (@€P=SP  (@CP=zSP
(i) IfCP=Rs950 Profit=10%then SPis ~ - .
"---f'_(a)stso . (®RsI0s5
|  (9Rs1i05 (d)nggj .
S (vm)" Difference between Marked Prtce and the Sellmg
I Pr:celscalled o S .
() Profit T (b} Loss

; (c)Discount ©- . (@ Tex .
(ix),_ It MP ‘Rs. 2"60 Dlsc:ount = Rs 5% Then Sellmg
Priceis . - .0 : -
(@ Rs2620 * ; (b) R's'2622 |
" @Rs.2624 ¢ () Rs.2626 +

| _(x)' N When Partners mvest capltals for dlfferent perlods of
| | tlmes the partnershlp is. called - :
(a) Slmple S (b) Compound

() Mixed . . (d) Ordmary
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'(xz) Lossascqualtqf :-';‘- el
- (@CP-SP .~ - (BSP-CP.
":'.(C)MP SP (d}Dlscount

| (xu) - * Thé rebate on marked Pnce is called .

(@) Commlssmn S (b Proﬁt
(o) Discount . . @ Loss
(xiii). Discount is equal to__ R T
- (@ MP-SP - -r,‘j;-_‘(b)sp MP L
(c)SP+Proﬁt ST @Loss

A Model Class Test e
L _Q,‘l-_—: Enclrcle the Correct Answer.ﬁ .
) -Loss 1sequalto Co P

© (@SP-CP . '@CP‘S'P*.E
7 (@MP-SE ' @SP-MP.
1 ()  CP=Rs250,8P= Rs.265, Then Profit % ageis
o @s%. o B)6%

©@7% - (@8%

.. (i) MP=Rs400, SP=Rs 360, Thendlscount%agelsr

L @s% . ®)10%
(©20% - (@15%.

o ﬁv) " Investors mvest capltal for the same pcrlod of tlme

- the partnershlp is FR
-~ (@) Simple = . (b)Com'pléx”_
~ (c)Compound @ Mixed:
- In ratio, share of each partneris
' " Capital .-

Penod

- | "(a) Capltal X Pcnod

'.(é') -Capltal +-P81_‘10d :' (d) Capltal Penod
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'(w) L Proﬁ % age is equal to"

@° ;{ft"""" '*""’"-(b) _Pmﬁt 100
- sp-cP_ - gp-cp.
) SP=CR g T SRECR
R e -
i) S_.P‘+‘L,oss=..._.._. |
. @cP : M
(@MP~CP . @ CP-MP

Q.2- -_'Solve any five short questlons R o

. ()  FindProfit % age if C.P = Rs.3450 and S.P = R. 3850 =
(i), Find C.Pif S.P = Rs.650 and Profit % age = Rs.30%
(i) 'Find Selling Price.of a toy-if the Marked Price is -
. Rs. 720 and 2% Dlscount is given. . | o _'
(iv) :Fmd the discount. "/’g age if a book w1th marked value s
| g-‘[-'--RssmlssoldforRs306 o

-' v - _?Deﬁne Compound Partnershlp‘? - |
. ~“(vi) - Distribute Rs.200,000 mﬂueer-.smﬁmanos 2 5.

(il “The Profit of Rs.67,200 is to- be divided among three. L
R '_'persons in the rauo 2 3:7. Fmd blggest share o

o o -, .Q‘.:3-: g Attempt any two questlons o - )
o I the- sellmg pnce of 10 a.rtacles 1s equal to the cost-_'

© ... price of 11 artleles Find the proﬁt percentage o
o (i) A shopkeeper offers a dlscount of 15% on the marked'."-' o
- price. How much percentage increase in cost price

. '+ -should be to mark the goods to give a profit of 19%.
__ (i) By selllng 100 Oranges a vendor gams the. sellmg-
A pnce of 20 Oranges Fmd the proﬁt percentage K |

¥ oo ’ ' :
CE votoor L .
P R - - o . "

L -



